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PHYSICS (Q1 to Q60)

Resistonces n, ench ol r ohm, when connected
i parallel give on equivalent resistince of R
vhine 1 these resistamnes were conmected in

series,  the comblntion  would  Jave  n
resistance in ohm, cqual o

() nlk (k) 'k

() i (i) Rin

The magnetic field o distance ¢ froma long
wire carrying current 0" i 000 tesla, The
nugnetic ficld ot o distance 2r is:

() 0.2 tesla (h) 0.8 tesla

(¢} O] tesla (uy Lo tesla

Two long parallel wires are ot a distance of’ |
metre, Both of them carry one ampere of
current, The force of altraction per wunit lenpth
between the two wires is:

(a) 2x 1077 N/m

{b}2x 107" N/m

(e} S x 107" Nfm

() 1077 N'm

A coil ol one turn is made of o wire ol certain
length and then from the same length o coil of
two turns is made. It the saome current s
passed in both the cases, then the ratio of the
magnetic inductions at their centres will be:
(a) 2:1 {hy 1:4

(¢) 41 (d) 1:2

The work done in (urning a magnet of
mapnclic moment M by an angle of 207 [rom
the meridian, is n times the corresponding
wark done 1o twrn it through an angle of 60°.
The value of n is given by:

(n) 2 (b) 1

{c) 0.5 (d) 0.25

Above Curie temperature:

(a) a paramagnetic substance becomes
diamagnelic

(b) a diamagnetic substance becomes
paramagnetic

(¢) a paramugnetic substance becomes
ferromagnelic

(d) a ferromagnetic substance becomes
paramagnelic

A varying current in a coil change from 10A to
zero in 0.5 sec, [T the average e.m.f induced in
the coil & 220V, the sell-inductlance of the coil s
(a) SH (b) 6H

—_IKBOIEE (18.8¢. Nursing & Other Courses_2023)

0OX.

()9,

Q1.

Q11.

(c) 11H (d) 12H

012.

Q13.

Q14

fie

A wire Toop is ritated in o magnetic fiehd. l!
the

Irequency of change  of  direction of
infuced cand, i

(n) wice per revolution

(b) fonr tinwes per revalution

(€) wix times per revolution

(d) once per revolution

In an experiment, 200 V ALC. is applied at the
encds of on LOCR circuit, The cirenil consists of
aninductive  reactance  (X1) 50 L2,
capneitive reactance (XC) = 50 £2 and ohmic
resistance (R) = 10 €2, The impedunce ol the
circuit is:
(a) 1}

() 3052

fl) 2061}
() -H0€2

A step-up transformer operates on a 230 V linc
and supplies a load of 2 ampere. The ratio of
the primary and secondary windings is 1:25.
The current inthe primary is;

(n) 25 A {hy 50 A

() 15 A () 12.5A

We consider the radiation emilled by the
human  body.  Which of the following
statements is true?
(1) the radiation emitted lies in the ultraviolet
region and hence is not visible.
(h) the radiation emitted isin the inlro-red
region.
(c) the radiation is emitted only during the day.
(d) the radintion is emitted during the
summers and ubsorbed during the winlers.

The electrie Neld associnted with an e.m. wave
in vacuum i piven by by B =140 cos (ke - 6 x 10",
where 15 2 and Lare m vol/m, meter and seconds
respectively. The value of wave vector k is:
fn)2m™ (by.5m™!

ey 6m (d)Im™

Time twken by sunlight to pass through a
window of thickness 4 mm whose refractive
index is 32 is:

() 2 x 107" see
(c) 2 x 107M e

(b) 2 x 10" sec
{d) 2 x 10" sec

A body is located on a wall. Its image of equal
size is to be obtained on a parallel wall with
the help of a convex lens. The lens is placed at
a distance 'd" ahead of second wall, then the
required focal length will be:

(a) only d’4

(b) only J/2

(¢} more than d/4 but less than d/2

(d) less than d/4
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QIS. A thin prism of angle 15° made of glass of
refractive index py, = 1.3 is combined with
another prism of glass of refractive index piz =
175 The combination of the prism produces
dispersion without deviation, The angle of the
second prism should be:

(a) 7° (b) 10°
(c) 12° (d) §°

QI6. The velocity v of a particle at time ¢ is
given by v = at + b/t+e where a, b, and ¢
are constamts,  The  dimensions of a, b,
and ¢ are respectively:

(a) I3 Tand 172
(M 1T, ET and 1,
(¢} LLIT and 17

(WIT Land T

QI7. If the error in the measurement of radius
of a sphere is 2%. then the error in the
determination  of volume of the sphere
will be:

(a) 4% (b) 6%
fc) 8% (d) 2%

QI8. A car moving with a speed of 40 knvh
can be stopped by applying brakes at
least after 2 m. If the same car is moving
with a speed of 80 km/h, what is the
minimum slopping distance?

(a) 8m (b) 6m
(¢) 4m (d) 2m

Q19. A boat is sent across a river with a velocity
of 8 km h™", I the resultant velocity of boat
is 10 km h™', then the velocity of the river is:
(a) 12.8 km h™!

(b) 6 km h™
{c) 8 km k™
(d) 10 km h™
Q20. The maximum range of a on

oun
horizontal terrain is 16 km. Ifg=10 ms2,

then muzzle velocity of a shell must be
(a) 160 ms™

(b) 200v2 ms™

(c) 400 ms™

(d) 800 ms™

"

- ; ?_Iiu A 100N fur,é?a’cls horizontally ona block of

[

10 kg pla cemﬁ horizontal rough surface of

 coeficient of friction p = 0.5. If the
acceleration due to gravity (g) is taken as 10
s, the acceleration of the block (inms™2) is:

)25 (b) 10
122488 (@75

Q2.

Q4.

Q25.

Q26.

Q27.

Q28,

- - ses o
A bullet is fired from a m
the bullet is given by I = 6[1}'} i {Lr: N
where, F is in newton and t gy st’chnu”j'
force on the bullel becomes 200 g
as it leaves the barrel. What jg . S, |

Ao
impulse imparted to the bullet? -h.gragt
(a) 1.8 Ns (b) zero |
(c) 9 Ns (d) 0.9 Ns

A force of 250 N is required to | a 75 |
mass through a pulley system. In gpy,, o Ilé |
the mass through 3 m.._l]:;c rope has 1o p, FLII[I :
through 12m. The efficiency of syseyy, is; o
(a) 50% (b) 75% |
(c)33% (d) 90% i
A particle of mass my i:;: moving i |
velocity vq and another particle of Mass m; i:,l
moving with a velocity v, !301‘.]1 of thep, o |
the same momentum but their differen kinet |
energics are E; and E; respectively, I m, 5:
my then

(a) Ey =Fk;

(c) Ey/Ez = my/my

[b} L:l = F.z [
(d) E, > E, i
Two bodies have their moments of inep, 1
and 2l respectively about their axis of rolatiop, |
IFtheir kinctic energies of rotation are equl, |
their angular momenta will be in the ratio:
(2) 2:1 (b) 1:2 |
(€) v2:1 (d) 1:V2 |

|

The moment of inertia of a body about a given |
axis is 1.2 kg m?, Initially, the body is at rest, |
In order to produce a rotational ki netic eneryy |
of 1500 joule, an angular acceleration of 25 |

radian/sec? must be applied about that axis for |
a duration of

(a) 4 seconds

(b) 2 seconds
(c) 8 seconds

|
't
(d) 10 seconds :.
[

The escape velocity of 4 body on the surface |
of the earth is 11.2 ks, If the earth's mass |
nereases 1o twice its present value and th’-':
radius of the eargh becomes half, the escape |
velocity would become: |
(2) 44.8 kny/'s |
(b) 22.4 kmy/s l

|

|

|

() 112 km/s i ang
(@5.6 k.m-“; {remains unchanged)

" N . |
The radii of circylar orhirs of two satellites
and B of the earth, are 4R and R, r'-‘specuw[}[ |

Ifthe speeq of sapellite A is 3V, then the 5
of sate]lje '

(a) 3vyg
(c) 12v

B will be:
(b) 6V

(d) 3vi2 __4-/’1'15/
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Which of the follosing tsmot a ype of
wiruchiral fweowerism?

{3Y Uit tr o AR0CTIsIN

(R Tain someriam

b Metameniam

(4 Tangosereriam

The dihedral angle of the least stal hle
cenformalion of cthane 1s

{aviy by

o) 1S Wy 120
2044 10
(a) I musle o1 osveen
{2
(<1 3 rwvles of ovapen
{d) 4 moles of ovvpen

atoms of oxypen conlaing

males of ovvgen

What s the implication of Pauli’s exchision

primaple”

(a) Electrons must have at leastone dilferent
quantun number 1o reside in the same
orbital

(b) I lectrons must have the same quantum
mmmbets o reside in the same orhital

(¢) Dlectrons are particles rather than clouds
and their location is determanistic

(d) Dutferent electrons have the same spin and
spattal wave function as they are
indistinnushable

Identify the de-Droglie expression lrom the
following.

(a) A =h=p
ich A =h+r|

Il

(h) A
(d) 4

hp
=h-p

l e-Chatelier’s principle is applicable to:
{a) Heterogenous reaction

(b) Homopgenous reaction

(c) lrreversible reaction

(d) System in cquilibrium

Ihllll’l'l IS Nrsing & (hhey ¢ Oy
I,’Hl‘l Chstnald s alilution T ds apple "|"'|
La) Steong! clevtralstes only
(h) Weak electralytes only
(¢) Nop-electrolytes
() Strong as well as weak ‘:IEH“'I}‘-:\

1 ewis concept does explain the hch_“"“
(o) Mases Ity
by Salts

() Protonie acids

|,d'u‘tn11hnl1:ric stibstances

0§1~

is hecause:

(a) Acids and alkulisin these solutiong
shiclded from atack by other jong

(b) These give unionised acid or hase oy
reaction with acid or alkali

(¢) Fixed value of pH

(d) Large excess of H' or OH ions

Q83
number of:
(a) Products formed in the elementary siep

(b) Reactants taking partin clementary siep
(c) Reaclants and products in the elementan,

slep
(d) Reactants and products in the final step

084, Which of the following is correct based on

Arhennis model of the rule constant K=AsE8

(a) A is always dimensionless
(b) For two reactions | and 2, iF A,
Ey=Es, then K (0>KA{T)

(c) For n given reaction, the percentage chang

of k with respect to lemperature is
higher at lower temperatures

() The percentage change of K with respect

o temperature is higher for higher A

QRS

Ideal solutions is [alse?

() Ideal solutions obey Raoult's law under all
conditions of temperature and concentralo®s

(b) There willbe some change in volume on
mixing the components, i.¢., AV 70

(¢) There will be no change in enthalpy whet |

the wo components are mixed. i.c..
Al !m.l\:nn =0
(d) There will be no change in volume on

mixing the components, i.c., & Vawng =

Ilter solutions resistany change i, Pl
- Thi,

Molecularity of a reaction is equal to the fota]

— .f"l.; and

Which of the following statements regarding

page 80
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(#) High temperatures
{b) Low temperanges
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Qlj}'j_- .'l]lh-'l'ch ﬂrlhl: Ill"l]\:lﬂg vilami ".-'.']]LE" l_'l'r m‘.’lﬂ:r Ennjmuvihfhuhaﬁt an Equ;:-'\l!
hormuene F“"Em“r' conductivity? . m"quﬁvalml
() Vitamin C (a) IM BaSO,
{li'l\’rimn!fng (b) IM KCl
= g () IM BCl,
LR Yyt (d) 1M CaSO,
Q102. The main corwibutors of acid Fain are: ey i
(1) Sulphur oxides and carbon oxides Q109. According lo the Dalton’s law of parg
(b) Nitrozen oxides and sulphur oxides !JT*-‘ESUIL’S. IJ:IE total pressure of , Mixg e
(c) Carbon dioxide and carbon monoxide [dtnlig:'!:-:':ti is equal I? the: e gf
(d) Nitrogen oxides and carbon oxides (a) Different of the highest apq -
. pressure et
Q103. Polymers arc not classified on the basis of (b) Product of the partial preg, .
x\-hifh of the following? (c) Sum ol the partial pressyre =
(a) Source (d) None of the mentione
(b) Number of monomers
(¢) Method of preparntion Q110. What is the constant in ideal gy -
(d) Structure known as? ton
, o (n) Universal gas constant
Ql04. ;:?Eifw fujllnx\-tng kind }1fpn|;.~etl:|yiinu (b) Pressure constant
(a) L::m'EwSI EphglﬂrHc?:r;?hmmmng' (¢) Temperature constant
(c) LLDPE (d) Cannot be determined (S eamils
QI0S. Biodegradation will be more for: QL. “'hﬂ:r‘! thf:r: are no ':xh‘.'rﬂi:ﬂ forces, the shape
(a) More molecular weights and high o aihqu:d frap !5 determincd by:
ervstallinity (a) Surface Tension of the liquid
(b) Low molecular weights and high (b) The density ofthe liquid
crystallinity = (c) The viscosity of the liguid
(c) More ;mle: ular weishts and less (d) The E“"F:EW“"'E of air only
crystallinity e :
(d) Low molecular weights and less Ql12. In whjf:h lype uf’pq_:nm defectare the cations
crystalliniry and anions absent in stoichiometric
i proportions?
Q106. What iifﬂ‘-‘ﬂ numbey of electrons transferred in ARyicalay el |
an equation lfl]'h‘.‘ Ncmst Eqmﬁun s “ﬂ Frl.‘]']}u_'l dﬂrl.-'“CI l
Fiecny = E%ceny —9.83% I[]'J".-clggm (c) ['“F'-“'ﬂ}' defect ':
{Arfdcfta!}mdcj? (d) The given sitwation does not occur forany |
Ea}:‘_ b6 point defeet. : |E
o (@1
QI I]- h!cnﬁﬂn thc Frciml' n
ich ads isotherm: |
Q107. The Gibbs free energy is positive when a (a) ¥'m = Kp® [h‘; ;,T,:E‘Ff?mm |
change in enthal - (c)x'm= Kp'™ ey I
FGSi[hﬁ: 7. py and chan.gn. In enlropy are o . P (d)x'm = FI\, :
- Which one of the following will act as best 1
|
|

(c) All temperatures
(d) Only at 0 Kelvin

(a) Starch (Gold No. 25)
(b) Gelatin (Gold No. 0.003)

() Gum arabic (Gold No. 0.15)
(d) Egg albumin (Gold No. 0.08)

B
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(QIAY. The Cell theory is notapplicableto

(a) Fung (M Algac
(¢) Vinns () Microbes

This tissue includes the blood tissue
(a) Miscle hissie

(B Connective hisse

()1 prthelial tissue

() Nervoar s

Q134

Which of the following is known as
mutoplaa?

fad Stochomdeia sithout outer membrane
(b Another name tor nutochondrnin

{ () Mitochondria without membranes

| () Mitochondnia without inner membrane

| DIs

Which of the following plants 1s an example
of a ennptogam with vascular tissues?

(a) Equisctum (b Cedrus

‘ (¢4 Marchantia (d) Ginkgo

| Q 1}!]5

Which of the following plants does not have
independent and free-living male and female
gametophytes?
(2) Fumaria
(c) Cedns

| QU7

(b) Preris
(d) Polytrichum

D QIES Why s grafling not possible in monocots?
. () Because they are herbaceous

(b Because they lack cambium

(¢) Becawse they do not have venation

(d) Because they have parallel venation

- In the raimy scason, doors get swelled up due
o
(a) Transpiration
(b) Imbibinon
(¢) Diffusion
(d) Respiration

Melanonu is a type of cancer that develops
from 3

(a) Granulocytes

(h) Melanoceytes

() Adipocyie

(di None ol the above

Q140

QI&( Human Immunodeficiency Virus causes aids

of the above

Q142 This statement regarding enzyme inhibition jg

() on-competitive inhibitors often bind to
the ennyme arreversihly

(b) pon-compenitinve inhibition of an enzyme
can be overcome by adding a large
amwunt ol substrate

(¢) competitive inhihition is observed when
substrate and inhihitor compete for the
active site on enzyme .

(d) competitive inhibition is observed when |
substrate competes with an enzyme 10
bind to an inhibitor protein

correct !
|
'

[&lif/ Macromolecule chitin is _
(a) phosphorous containing polysaccharide
(b) nitrogen containing polysaccharide
(¢) sulphur containing polysaccharide
(d) simple polysaccharide f

Ql_,#((‘rcncr;tli\c nucleus divides forming f
(2) 2 male nuclei (b) 3 male nuclei ;
¢) 2 female nuclei  (d) 3 female nuclei
Q]Ane nucleus of the pollen tube and secondary
nucleus of the ovum grow into
(a) Stigma (b) Endosperm

(c) Anther (d) Stamen
Q.H{Thc stalk of Datura flower at its base 1s known
as
(a) Pedicel (b) Corolla
(c) Scpals (d) Thalamus

Q,}!!{Tlm male reproductive parts of a ower, the
stamens, are collectively known as
(a) Androecium (b) Filament
¢) Anther (d) Gynoecium

8. The other name for gynoecium is
(a) Pistil (b) Stigma
(¢) Androecium (d) Style

(%J.fl(Funutiuml megaspore in a flowering plant
develops into

(2) Endosperm (b) Ovule
(c) Embryo-sac (d) Embryo

Q_;S({Whi::h of the following is similar to
autogamy, but requires pollinators?
(a) Geitonogamy (b) Cleistogamy
(e) Apogamy (d) Xenogamy

—
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[_Qzl}_ I1]u terminal velocity v of 3 small steel bal]
of radivs 1 [lling under eravity through o
column of a viscous liquid of coefMicient of
viscosity n depends on mass of the bail m,
acceleration due to graviy g coeflicient of
viscosity v and radius r. Which of the
[pllowing relations is dimensionally correer?
(2) v & mgr/y '
{h) v e myyr
(€) v o< mg'm
(d) v o nmyy/r
Q30. Alarge tank is filled with water to a height H.
A small hole is made at the base of the tank. It
takes Ty time to decrease the height of water
to H'n (n>1); and it takes Tz time 10 take
out the rest of water. If T, = T, then the
value of n is
(a)2
fc)

(b) 3
(d) 22

Q31. In Young's experiment, two coherent sources
are placed 0.90 mm apart and fringe are
observed one metre away. If it produces
second dark fringe al a distance of 1 mm from
central  fringe, the  wavelength  of
monochromatic light used would be

(a) 60 x 10~ ¢m (B)10x 107 em

(¢) 10x10°% ¢m (d)6x 107 cm

Q32. A parallel beam of monochromatic light of
wavelength S000A is incident normally on a
single narrow slit of width 0.001 mm, The
light is focussed by a convex lens on a screen
placed in focal plane. The first minimum will
be formed for the angle of diffraction equal to
(a) 0° (b) 15°

(c) 30° (d) 50°

Q33. The periodic waves of intensitics I, and |5
pass through a region at the same time in the
same direction. The sum of the maximum and
minimum intensities is:

o (a) I +1, (b) (I, +1,)°

N O TR AL () 2(1 +1y)

A parallel beam of light of wavelength % is
incident normally on a narrow slit A
diffraction pattern is formed on a screen
placed perpendicular to the direction of the
incident beam. At the second minimum of the
diflraction pattern, the phase  difference
between the rays coming from the two edges
of slit is:
(a) mh

(c) In

(b) 2n
(d) dn

JRDOPEE (B.Sc. Nursing & Other Courses 2025)
Q35. The wavelength of a | keV photon is
© 1.24x107" m. What is the frequency of | MeV
photon?
(a) 1.24 x 10Y
(b) 2.4 x 10™
(c) 1.24 x 10"
(d) 2 x4 x 107

Q36.  The photoeleetric work function for a metal

d surface is 4.125 eV. The cut ofT wavelength for
this surface is:
(a) 4125 A
(c) 6000 A

(b) 3000 A
(d) 2062.5 A

(37 The radius of hydrogen atom in its ground
state is 5.3 x 107" m. Afier collision with an
clectron it is found to have a radjus of
21.2x 107" m. What is the principal quantum
number n of the final state of the atom?
(a)n=4d (hin=2
(chn=16 (dyn=3

Q?f, The energy of a hydrogen atom in the pround

state is -13.6 eV. The enerpy of a He* ion in
the first excited state will be:
{a) -13.6 eV
(9 -27.2eV
(c) -5d.4 eV
(d)-6.8eV

QS(Encrg' released in the fission of a single
22U™ nucleus is 200 MeV, The fission rate
of a U™ fuelled reactor operating al a
power level of 5 W is:
(a) 1.56 x 1071 g7
(b) 1.56 x 10" 5™
(c) 1.56 x 10714 g™
(d) .36 x 10717 57

When n-type semiconductor is heated:

(o) number of electrons increases while that of
holes decreases

(b) number of holes increases while that of
clectrons decreases

(c) number of electrons and holes remain same

(d) number of electrons and holes increascs
equally.

Qg]_/Thc part of the transistor which is heavily
doped to produce large number of majority
carriers is:

(a) emitter

(b) base

(c) collector

(d) any of the above depending upon the nature
of transistor

Page Sof 16



SERIIS-N

[ Q37 The potential enerey of panicle
isU=A-Br, where A
constants and 1 is the distance of particle from
the centre of the field. Tor stable equilibrium,
the distance of the particle is:

(0) B2A {h)y2A/D

(@) AB (dy B'A

Q558. In o Wheatstone's bridge all the four arms
have equal resistance R, If the resistance of the
galvanemeter arm is also R, the equivalent
resistance of the combination ns seen by the
battery is:
(a) 2R
(c) 2

ina force field
and I are positive

(by R4
(d) IR

Q39.  Awire has a resistance of 3.10 at 30°C and a
resistance 4.5Q at 100°C, The temperalure
coefticient of resistance of the wire js:

(1) 0.0064 =2C

(b) 0.0034 =C™

(c) 0.0025 °C™

{(dy 00072 =C

Q60.  Two identical bateries cach of e.m.f 2V and
internal resistance 12 are available 1o produce
heat in an external resistance by passing a
current through it. The maxinum power that
can be developed across R using these
batteries is:
(a) 3.2 W
(c) 1.28W

(b) 2.0 W
(d) 8/9 W

CHEMISTRY (Q61 to Q120)

Q6]. The Name of caesium is in the colour
(a) White {b) Red Violet
(c) Yellow (d) Blue

oo

The order of acidic strength of boron trihalides
is:

(a) BFs <BCl; < BBr; < Bly
(b) Bl; < BBr; < BCl, < BF;

(¢) BBrs <BCl; < BFy < Bl

(d) BF3 <Bl; < BCl; <BBr;

Q§f Which oxoacid of sulphur is commonly used
for disinfecting swimming pools as well as
delignification of wood?

(a) Sulfuric acid

(b) Peroxydisulfuric acid

(c) Sulfoxylic acid
(d) Peroxymonosul furic acid

__JKBOPET (I3 Se. Nursing & Other Courses 2023)
Uf".l-#_‘:frli_uh ol the I!irllumlm_: is the correct order of
‘ ontdizing power of perhalates?
(0) BrOy < 10y = ClO,
(b1 10y = BrOy = ClOy
() 10y < BrOy < ClOy
(d} BrOy = 104 = ClIOy

Qg}{ What is the correct order of magnetic strength
among the following elements?
(0)Fe>Co=>Ni>Cu
(b)) Fe > Ni>Coz=>Cu
() Cu >Ni>Co > Fe
(d)Cu > Fe > Ni > Co

Which of the following is an alloy of iron?
(&) Vitallium (b} Brass
(c) Invar (d) Solder

Q67.  Identify the correct naming for K;[PdCly).
(a) Potassium tetrachlorinepalladium (1)
(b) Potassium tetrachlorinepalladate (11)
(c) Potassium tetrachloridopalladium (11)
(d) Potassium tetrachloridopalladate (11)

Uﬁs./ Identify the correctrelation benween A, and
Ar where A, denotes crystal field splitting in
octahedral complexes and Adenotes crystal
lield splitting tetrahedral complexes.

(2) A, < Ay {(b) Ao > Ay
(€) Ao= Ay (d) Aaz

Q-:}?./ How many geometrical isomers are possible in
a complex of npe [MAs(D):]. where A is
unidentate and D is bidentate?

(a)0 (b2
()3 (dy4

OT).-" Haemoglobin isa complex compound of
which metal jon?
(a) Fe*'
(c) Co™

(b) Fe'*
(d) Ca®*

Which of the following is known as Baker-
Nathan effect?

(a) Mesomeric effect (b) Inductive effect
(c) Hyperconjugation (d) Flectromeric effect

The geometry of carbanion is
(n) Pyramidal (b) Linear
(c) Tetrahedral (d) Trigonal planar
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gso.  Inwhicholthe Tollowing solutions will the
Van't Hott Pactor for the sohte be
(a) Sedim chlonde inwater
(b)Y benzone acid in benzene
(€Y Acetic acid in benzene
(d) Phenol in benzene

ksser than |7

Q87. Which one is true for internal energy’?

(a) ltis sum of all forms of encrgies
associated with molecules of a system

(b) 1t is a state function of a syslem

(¢) It is proportional to transnational KI5 of
the molecules

_l;_d'l All of the mentioned

QS{ The enthalpy change in the reaction,
2CO~0:—2C0; istermed as:
(a) Enthalpy of reaction
(b) Emthalpy of fusion
() Enthalpy of formation
(d) Enthalpy of combustion

DE( Hess's law states that a chemical reaction is
independent of the rowute by which chemical
reactions take place while keeping the same:
(a) Inital conditions only
(b) Final conditions only
(c) Mid-conditions
(d) Initial and final conditions

(}Eﬁ./ Spontaneous reaction that occur are mostly
in nature,
() Endothermic
{(b) Exothermic
(c) Both endothermic and exothermic
(d) Neilher exothermic nor endothermic

_091./\.‘-.'he:1 a racemic modification is separated
into its constituents’ enantiomers the process
is known as:
{a) Resolution

)Mudi fication

Q92 Which of the following way is not a method

of preparation of alcohol?

(a) Grignard reaction

(¥) Reduction of an aldehyde, ketone, or
carboxylic acid with the appropriate
reducing agent

(c) Substitution reaction of hydroxide or
water on the appropriate alkyl halide

(d) Haber's process

(b) Raccmisation
(d) Epimerisation

&

IKBOPEE (I Sc. Nursing & Other Courses 2025)

Ul{,}' The onidation of trichloromethane resulls in
the formation of a poisopous gas called
{a) Carbon monoxide
(h) Carbony! chloride
() Hydrogen sulphide
(d) Phosphine

Q.

Which of the following reactions can produce
ketones?

(a) Oxidation of primary alcohols

(b) Dehydrogenation of primary alcohnls

(¢) Dehydrogenation of tertiary alcohols

ﬁdj Oxidation of secondary alcohals

Q}/ Benzoyl chloride is prepared from henzoic
acid by which of the following”
(a) Clz, hv (b) 50,, Cl:
(c) SOCI; (d) Clz, H:0

QM,/ On heating acetamide in presence of P20,
which of the following is formed?
{a) Ammonium acctate
(b) Acetonitrile
(c) NH;,
{d) Methylamines

Q97. Which of the following reagents on treatment

with benzenamine in basic medium produces
phenyl isocyanide?

(a) CCl,

(b) Trichloromethane

(c) Methylene dichloride

(d) Hexachloroethane

Q98. Products formed when Nitrobenzene reacts
with HNOwH:SO, at 80-100°C.

(a} 1, 4-Dinitrobenzene

(b) 1, 2, 4-Trinitrobenzene

(c) 1, 2-Dinitrobenzene

(d) 1, 3-Dinitrobenzene

Q99. Which of the following is associated with
decrease in pKp value of amines?

(o) lncrease inacidic strength

(b) Increase in basic strength

(c) Benter proton donation

(d) Better clectron acceplor

leﬁhc phenomenon of mutarotation is not
exhibited by
(a) (-) Fructose
(c) (+) Maltose

(b) (+) Lactose
(d) (+) Sucrose

o]
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- JKBOPEE (B.S¢ e ~025)
QI15. The correcturder of electronegativity is Q123 Tligh bgnzfil-ﬁu;iirtixf dq::.:;dc:ﬁ:-smﬁ 5
(o) Cl>F>0>Br (b) F>0=C|>Br body means Eal e
(C} F=Cl=Ir=0D [{“ 0}]‘-:’{:1}“! [ﬂ] ‘:]bri“l.'l' g amit Pi'—'”l.ﬂ{.'d

(b) Water is polluted

Q116. What is the correct order of electronegativity (¢) Waterbody contains lots of lifeforms

EH0RS the following options? (d) None of the above
{a) Li<Na<K<Rh<Cs
(b) Li“K=<Na<Rh<(Cs 1247 Which of the following is used as a substrate
(¢) Li>N>K>Cs>Rb lor aIcr::huI fermentation?
(d) Li>Na>K=Rb>Cs (o) I":-'Im;r_- (h) Barley _
(c) Sucrose (d) None of the above
Q}J’T‘ Allthe _ species (molecules and ions) QI,ZS’:‘ Antibiotics are the most efTective on:
have the same bond order. (a) Bacteria (h) Virus
(a) Isotopic (¢) Fungi (d) None of the above
{h) lsoelectronic
(¢} 1sobaric : UI‘,.'J'G/ Pacillus thuringiensis is “iLftl}'_lI‘.:?ﬂt‘.l as:
(d) Isoncutronic (n) Insecticide (b) Weedicides
(¢) Rodenticide () None of the above

Q118. The maximum number of 90" angles between
bond pair of electrons is observed in
(a) dsp® hybridisation

0127.-Which of the following is not a characteristic
of the phylum Arthropoda?
(a) Metameric segmentation

(b) sp*d hybridisation (b) Jointed appendages

(c) spd’ hybridisation (¢) Chitinous exoskeleton

(d) sp°d® hybridisation (d) Parapodia
Q119. What is the shape of the molecule NH,? Q3. ﬁ:‘f“’“““ isperformed by in

a) Sque i b L .

(8) Fquenre: pyranial (a) protonephridia {b) Name cells

(b) V-shape T

— . {¢) green glands (d) malpighian rubules
(¢) Triagonal pyramidal i
(d) Tetrahedral 0124 In connective tissue sheaths, this is the correct
sequence strelching from the outermost to the

DT20. Arrange the following molecules in decreasing innermost laver

bond lenzth. (1) epincurium, endoncurium, perineurium

(0)0.> 07> 02" >0 (b) perineurium, epineurium, endoncurium

(b) 0> > Or > 0:> Oy (¢) perineurium. endoneurium, epineurium

(c) 07 > Oy > 0 > O (d) epineurium, perineurium. endoneurium

i ' =
(d)Or>0:"> 07> 01 1367 This is correct about epithelial tissue

(a) lack of nerve supply
BIOLOGY (0121 to 018“] (b) lack of blood supply

(c) lack of free surface

(d) lack ol intercellular matrix

QL21. Plants growing under shade are known as

(a) Psamophytes (b) Sciophytes Qlaf The organelle serving as a primary packaging
(c) Heliophyles (d) Monocots area for molecules that will be distributed
/ throughout the cellis
QK32. Which is not the characleristic of *r'selected (a) Vacuole (b} Plastids
species? (¢) Mitochondria (d) Golgi apparatus
(a) Reproduce quickly -
(b) Parental care Q12%. Animal cellsare interconnected by
(¢) A low survival rale of pmgenies { (a) Plasma mecmbranc (b) Cell wall
(d) Produce a large number of progenies (¢) Desmosomes (d) Plasmodesmata
|
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SERIFS-B - JKROPEE (I3.5c. Nursing & Other l;‘mu‘ses :—Dﬁl_
Q170 The gepolypic ratio of o mopolshrid cross is 0139 According to Shellord h'-L:I“' of Tolerance,
B {a) 1:2:1 (M 31 the arganisms wide environmental factor
() 2:1:1 (1) 9:3:3:1 tolerance limit show ‘ .
(#) Narrow distribution with low population
Q171 The crossing of I'1 to cither of the parents is sisC . o _
Anown as (h) Wide distribution with high population
(a) Test crivss 1A : - 1 . -
tby Rack cross (¢) Narrow distribution with high population
(o)1 cross siee . | ‘ _
(Y Al of the above (d) Wide distribution with low population size
Q172 Which of the following statements is true U&JL Plants growing under direct sunlight are
| regarding the “law of segrepation™? known as
warding the “law of segregation™! _ .
: (o) Law of segregation is the law of purily of (a) Heliophytes (h}h'fmptl}'"—“‘i
r penes (¢) Psamophytes (d) Dicots

| (b Alleles separate from cach other during
F;'ll“ll‘[ngmmgig; i

(¢) Scgreeation of factors is due to the
segregation of chromosomes during meiosis

(dY All of the above

QI173. lHomoagosity and heteroaygosity ol an
individual can be determined by
(a) Back cross (b) Sell-fertilization
(c) Test cross (d) All ol the above

Q174 Ancxception to Mendel's law is
(a) Independent assortment
(b) Linkage
(¢) Dominance
(d) Purity of gametes

QI75. Pea plants were used in Mendel's experiments

because

(2) They were cheap

(b) They had contrasting characters
(c) They were available casily

(d) All of the above

Q176. The smallest unit of genetic material which
produces a phenotypic eflect on mutation is

(a) Muton (b) Gene
(c) Recon (d) Nucleic acid

Q177. The natural place of an organism or
community is known as
(a) Niche (b) Biome
(c) Habitat (d) Habit

Q]_ZS{ Which is the renewable exhaustible natural

cnergy resource?
(a) Coal (b) Petroleum

(c) Kerosene (d) Biomass
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which of the [ollowing solutions wij| he

SRIES

q) Sodium chloride in water
(b) penzoic acid in benzene
(C]Acetic acid in benzene
(d phenol in benzene

\hich one is true for internal energy?

(a) It is sum of all forms of energies
associated with molecules of a system

(b) It is a state function of a system

(¢) It is proportional to transnational K.E of
the molecules

(d) All of the mentioned

Q87

" The enthalpy change in the reaction,
2C0+0:—2CO0: istermed as:
(a) Enthalpy of reaction
(b) Enthalpy of fusion
(c) Enthalpy of formation
(d) Enthalpy of combustion

[}Sq_/Hcss‘s law states that a chemical reaction is
independent of the route by which chemical
reactions take place while keeping the same:
(a) Initial conditions only

(b) Final conditions only

(¢) Mid-conditions

(d) Initial and final conditions

01[{ Spontancous reaction that occur are mostly
in nature.

(2) Endothermic

(b) Exothermic

(¢) Both endothermic and exothermic

(d) Neither exothermic nor endothermic

_QE’( When a racemic modification is separated
into ils constituents” enantiomers the process
is known as:
(a) Resolution

) Modification
Q92

Which of the following way is not a method

of preparation of alcohol?

(a) Grignard reaction

(B) Reduction of an aldehyde, ketone, or
carboxylic acid with the appropriate
reducing agent

(c) Substitution reaction of hydroxide or

water on the appropriate alkyl halide
(d) Haber's process

—

(h) Racemisation
(d) Epimerisation

JKBOPEE (B.Se. Nursing & Other Courses 2025)

In
Q%6 ot Hoff Factor for the solute be lesser than 12

Q9!3ff The oxidation of trichloromethane results in

the formation of a poisonous gas called
(a) Carbon monoxide

(b) Carbonyl chloride

(c) Hydrogen sulphide

(d) Phosphine

Q94. Which of the following reactions can produce
ketones?
{(a) Oxidation of primary alcohols
(b) Dehydrogenation of primary alcohols
(c) Dehydrogenation of tertiary alcohols
td) Oxidation of secondary alcohols

#

Q}é’./ Benzoyl chloride is prepared from benzoic
acid by which of the following?
(a) Cls, hv (b) SO4, Clz
(¢) SOCl: (d) Clz, H:O

Q,%/ On heating acctamide in presence ol P20s,
which of the following is formed?
(a) Ammonium acctate
(b) Acetonitrile
(c) NH,
(d) Methylamines

Q97. Which of the following reagents on treatment

with benzenamine in basic medium produces
phenyl isocyanide?

(a) CCly

(b) Trichloromethane

(¢) Methylene dichloride

(dy Hexachloroethane

Q98. Products formed when Nitrobenzene reacts

with HNOVH,SO, at 80-100"C.
(a) 1, 4-Dinilrobenzene

(b) 1, 2, 4-Trimtrobenzence

(¢) 1, 2-Dinitrobenzene

(d) 1, 3-Dinitrobenzene

Q99. Which of the following is associated with
decrease in pKy value of amines?
(a) Increase in acidic strength
(b) Increase in basic strength
(¢) Better proton donation
(d) Better clectron acceplor

Q100. The phenomenon of mutarotation is not

exhibited by
(a) (<) Fructose (b) (+) Lactose
(c) (+) Maltose (d) (+) Sucrose

Page



SERIS.R

Q73

According 1o Hinkel's rule an aromatic
compound nunt possess
(ad (e Dim-electnons
(M gdne imeelectrons
(W dnm-electinmm
(dridns Yimeelements
R7T4 0 Which of the following isnot a e of
st tral ywonmerism?
2V Leonwetnie isomerism
(BY Chamn somerism
(Y Metanweriam
(Y Tavtomerism

Q75 The dibedral angle of the least stable
conformation of ethane is:

(a) () (hyon®
(¢) 104 37 (dy 1200

Q3 2044« 100 atoms of oxvgen contains
(@} I nole of oxvpen
(Y 2 males of oxveen
(€) 3 mules of onyvpen
(Y4 moles of oxypen

Q77 What is the implication of Pauli's exclusion

principle?

() Electrons must have at least one different
quanium number to reside in the same
orbital

(b} Electrons must have the same quantum
numbers 1o reside in the same orbilal

(€) Electrons are particles rather than clowds
and their location is deterministic

(d) Different electrons have the same spinand
spatial wave function as they are
indistinguishable

Q7s.

Identify the de-Broglie expression from the
following.

(@) A =hxp

(b) A =hp
(c) A =h#p

(d) 4 =h-p

Q79. Le-Chatelier's principle is applicable o:
(a) Heterogenous reaction
(b) Homogenous reaction
(¢) Irreversible reaction
(d) System in cquilibrium

£
——————

80,

o Nursing & Other Coyyg
; THET | R Nurs . .
_Lk_”i]}i%m-._-._l&ia Jilution faw 18 "Ff‘hfublc
clectrolstes only

lo:
(o) Strong .

(h) Weak electrolytes only

(c) Non-clectrolytes

() Strong as wellas weak electrolyteg

O§be T ewis coneept does explain the behavigy @
() Bases
(b) Salts 1 ]
(¢) Protonic acids
(d) Amphoteric substances

1

/

Q_'iz/ Ruffer solutions resistany change in I"H-Thig

is hecause:

(a) Acids and alkalis in these solutions are
shiclded from anack by other jong

(b) These give unionised acid or base op
reaction with acid or alkali

(¢) Fixed value of pH

(d) Large excess ol H' or OH ions

83, Molecularity of a reaction is equal to the total
number of:
(a) Products formed inthe clementary step
(b) Reactants taking part in elementary slep
(¢) Reactants and products in the L‘lcnunmr:.-
step
(d) Reactants and products in the final step

Q84. Which of the following is correct based on

Arthenius model of the rate constant K=Ag-i%19

(2) Ais always dimensionless

(b) For two reactions | and 2, il A, =As and
=k, then Kl[l]}K‘_‘[T}

(€) For a given reaction, the percentage change
of K with respect to temperature is
higher at lower temperatures

(d) The percentage change of K with respect
1o temperature is higher for higher A

Q85. Which of the following statements regarding
Ideal solutions is (alse?
(@) Ideal solutions obey Raoult’s law under all
conditons of temperature and concentrations
(b) There will be some change in volume on
mixing the components, 1.8, 8Veiung #0
(c) There will be no change in enthalpy when
the two components are mixed, i.e.,
O lioane =0
(d) There will be no change in volume on
mixing the components, i.e., AVising =0
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